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PRACTICE TEST-1

CLASS: Xli
SUBJECT: GEOGRAPHY (PART-I

HUMAN GEOGRAPHY : NATURE AND SCOPE (CHAPTER-1)

Time : 2 hrs. M.M. 25

I.

A St st g Sifse 1
Give the definition of Human Geography.

“ypfa oF SRY % SIER AME U HI @A ol 8l i # wE-G
foamemy 39 oM 9 gehd 272 1

“The Human being adapt himselves to the dictates of nature.” Which
geographical thought support this statement.

e el o SArH ‘et faded’ & e T sl ) s femm S 221

Approach of Areal differentiation in geography emphasize on which things?

‘el 3l S’ TeeEEE 9§ S R whE 87 1
What do you understand by Stop and Go determinism?
smfofer et o feheal <1 SUasl o W fafe 1

Write the name of any two subfields of Economic Geography.

TENfiTen! o1 foerrd e o ford wehfa o oMl ol Hel eeaeas 2| 39 oA
i TR Aigd T A

FEAER i g S| AretE forenst g e W S a3yt
1 Uhe o ford T HFeld geai il SO i Sewashal 22 fheel & @
EGiR] 3

Define possibilism. To prevent the bad effects on environment due to human
activities, which human values are needed to be adopted? Mention any two.

Jepld o HERIOl ¥ R w7 3

What do you mean by humanization of nature. Elaborate.

g o ARl @ U e 31eTaE & SUrM fhe @e ufafdd gy @2 faem
<l

0

AME PN oF Shideh foehd i fohan ol Twesd| 3




10.

11.

How is approaches of studying Human Geography changed through the
corridors of time. Describe.

OR

Explain the steady development of Human Geography.
3 I ok WY W w fF yepla @ Aqeg aAfaas a2 3
Explain that nature and man are intricately interwind. Give two examples.

feerere, 9 = AfqYE ©2 HME oh WIehTaehiol i Sl hifsd| 5

What is determinism? Explain naturalization of Humans.



PRACTICE TEST-2

CLASS: Xli
SUBJECT: GEOGRAPHY (PART-I

PART-I (CHAPTER-2)

Time : 2 hrs. M.M. 25

I.

10.

fova o SdeEn fomur & wey &1 &iE g foriva aasd| 1
Write any two features of population distribution pattern in the world.

YA o Tied T 9 e @2 1
What is understood by place of destination in migration?

S 1 Wihfae gfg fRE wed 22 1

What is natural growth of population?

SUSTTRY &1 Yo & JHIfod i aTct ekl oh fohd 98 § W@l 1

In which group of factors that influence migration shall unemployment be put?

et Tt ® SHEen #i e 9fs % e SRR vy wwe F@mn e 1

What is the main factor responsible for rapid population growth in twentieth
century?

SHEEN #1 gfg W hY H w1 S 82 SHEEA qNEdd o TH@ SR i
fafes 3

How is population growth rate expressed? Write about the main factors of
population change.

S U fRY wEd ©? fovd o EA SHEe U9 9 &9 o1 faeRu
s

What is population density? Give a brief account of areas with high population
density.

STHIfoReh 1 HhHUT ki il 3Ta%d Wel STeh! fagoard fafed)

Write about the main features of three stages of demographic transition
stages.

ToTH 1 YIfId i oTcl ekl oF QM1 GHEI 1 S0 hifs|

Describe the two groups of factors influencing migration.

fova o f<3 gu vmfes o sifrd SMM &3 &1 197 Hohal o STUR W Tg=14 |




11.

A - Faifer SIS ool 29
B — SE®I o HH T ool 290

C - ZU9 =1 ¥&F 3T &5 (Map f&n T ®)

In the given map of world show the places, with appropriate symbols, on the
basis of given hints:

A. A country with maximum population in the world
B. A country with low population density
C. A densely populated area of Europe

fasa ¥ e faawor &1 guifad 3 9 Rl i 3B 9igd T il

Explain the factors affecting the population distribution in the world with
example.
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PRACTICE TEST-3

CLASS: Xli

SUBJECT: GEOGRAPHY (PART-I

POPULATION COMPOSITION (CHAPTER-3)

Time : 2 hrs. M.M. 25

I.

fava & fra 3o o =aw fom e 22 1
Which country has the lowest sex ratio in the world?
2011 SFTUAT o ER fave ®1 Rd o SHHeEn fha 82 1

What is the average density of population in the world according to 2011
census?

fava 1 Tod o571 W W HH-91 7?2 1
Which is the largest linguist group in the world?

fava % fore 9 § sifieman fofm s £2 i
Which country has the highest sex ratio in the world?

faga o fohae <ot & fdn srum wfaea @2 1

How many countries have the unfaourable sex ratio in the world?

HI&RAT TG Rl YT i ATel ek ] THAT| 3

What are the factors that influence literacy ratio?

foreqa SEEn e fre yer fer Smoen 9 fa=1 22 3

How is expanding population pyramid different from constant population
pyramid?

ferm sru frd wed €2 fava & o <@l § fo orque forat & ufa wfdea
i ©7 THT) 3

What is sex ratio? Why is sex ratio unfavourable to women in some countries
of the world? Explain.

d HH 9§ FRF ¢ S WRG ¥ o oo &5 9 T &5 # SR ger

F TAIEIET FL 2 3

State the factors which discourage women to migrate from rural to urban
areas in India.



10.

11.

SHEE e 1 fpfa SEen &1 fagivaet 1 gieted S 81 999 3

The shape of the pyramid reflects the characteristics of the population.
Explain.

fava & fafu= &= & w0 *1 gfepan fFg ¥R TR R wrEor SHEEn
o MR A fg=ran 3R eTdqer ot 272 5
How the process of urbanization brings differentiation and imbalance in

population size between urban and rural population size in various parts of the
world.



PRACTICE TEST-4

CLASS: Xli

SUBJECT: GEOGRAPHY (PART-I

HUMAN DEVELOMENT(CHAPTER-4)

Time : 2 hrs. M.M. 25

I.

A foehte 61 Heheud forer wfquifed =12 1
Who introduced the concept of human development?

fora 3w 1 A fawmE gEwiw Taifas 87 1
Which country has the highest human development index?

A foehTd oF TR W Sl 1

What are the four pillars of human development?

SE.uA. . (ILO) =1 fagga &9 fer@i 1
What is the full form of I.L.O.?

o9 <9 1 GNH (Fehel TR T<F) &1 A= & T 872 1

Which country has given the recognition of ‘Gross National Happiness’
country in the world?

e Tk fhd %ed 22 AH4 {9 o =R el ol afvla skifs) 3

Define human development. Explain the four pillars of human development.

= AMa fasa godie ae =R 390 o AW foal /= qama faem o fag

S 1 Ry ferat 3

Name four countries having low human development index. Discuss three
reasons for low human development index.

Heds-Sa-8% R emed 99 gr fRu T faehr o Sepfeuss e w1 fawr
g == i) 3

Discuss in detail about the alternative view of development given by Dr.
Mahbub-ul-Haq and Prof. Amartya Sen.

1w ? R fova & go 3w § S= 9 = A foww gEe @
3L Hfed T i 3




10.

11.

Why does the particular region of the world keep reporting low or high levels
of human development? Explain by giving suitable examples.

Ae foeRT g@hish 1 AT et A9eh! k1 U HITST) 3

Explain the three parameters of HDI.

e R # Yol SE¥9 N 72 WHE faem o fafw= summi et o
iU 5

What is the basic goal of human development? Describe various approaches
of Human Development.



PRACTICE TEST-5

CLASS: Xli
SUBJECT: GEOGRAPHY (PART-I

HUMAN GEOGRAPHY : NATURE AND SCOPE (CHAPTER-1)

Time : 2 hrs. M.M. 25

I.

8.

mfyer foraet o wfher fomard wH-d 272 1
Name the some primary activities.

i e fava o wef fRar s 72 1
Gathering is existing as an economic activity in which region of the world.
o= qYEE Ire T T €2 1

Write the characteristics of commercial livestock rearing.

e fefe & o 31 ¥ FHR HHE-9 872 1

Name the two types of intensive subsistence agriculture.

U W W H R fau wa #1 Tt w9 @2 1

Which specialized fruit is grown in the Mediterranean region?

fava o wefes o frafafea fagst =i swisw? 3
%, T o g W

W STHRI H AU U9 &

T U WREY W Sorard uyeRen 85

On a physical map of the world, mark the following feature with appropriate
label.

I. Tundra region in Asia
il. Commercial livestock region in Africa

iii. Areas of nomadic hearding in Asia

Yl HaEE e TSt o WieH WUl Sl Helifush $=1d T <8 YRR Bl
ST FUA HI e Hife) 3

“Dairy is the most advanced and efficient type of rearing of milch animals”.
Explain it.

G FE 1 enuyed A Q) Al W) A et 22w it 3



10.

11.

Write two profitability of mining operations.

“faenfaq srefoaeTen A <R SARH i T THEH TF WY w9 WD 8
®© B? SUgH HA i g i) 3

“The developed economies are retreating from mining, processing and
refining stages of production”. Why?

U901 FU T TESTA AR T T Tyl Uge] ol T &ifswl 3
Plantation agriculture was a important part of colonalism. Explain it.

it iy fove o sreafuen formfaa 2o o o 61 Sl 82 RO S| 5

Why mixed farming is found in the highly developed parts of the world?



PRACTICE TEST-6
CLASS: XlI
SUBJECT: GEOGRAPHY (PART-I
SECONDARY ACTIVITIES (CHAPTER-6)

Time : 2 hrs. M.M. 25

1.

10.

11.

Jrenfierla =R g/ 2 &1 o dd BiaT 31 T Ui o T S 1

Technological innovation plays a important role in the faster development of
the nation. Explain it.

smyfeh foior o e dohsul g & Tl o g @1 tw 1

Major concentration of modern manufacturing have flourished in a few
number of places. Comment on it.

SN 1 SR T aml W ek s ©2 1
What are those things which determine the size of the industry?

‘FiY 3T’ () I gReIfa i) 1
Define the term ‘Agri business’.

T T fFE e ¥ WA Tl U 3 5¥ Wd Tl g1 deh difem) 1

How does new Ruhr show a different scenario from the earlier Ruhr region?

IR T SRR ST 1 O o T THE FRE B W Hife) 3

“The existence of a market for manufacturing goods is the most important
factor in the location of industries”. Give reasons.

W o€ Y9 ol SArEifies wewl o & vewe faget & sn ¥ fafgm 3
Write two recognition points for traditional large scale industries.

dre Toa 3 1 9t STEN 1 SMUR R el Sl 71 HIE diF deh afea 3

“The iron and steel industry forms the base of all industries”. Comment on it.

fafio 315 &1 =ARen SHifs) 3
Define the term ‘Manufacturing”.

amyfer Fefor STgeERton & W UfeRd 9 § §E 2 T Sifey? 3
Modern industry is inseparably tied to the transportation. Explain it.

= qrEifert frafor ufean &)t wecyel wE) @1 e wifvu 5

“High technology plays an important role in manufacturing process.” Explain it.



PRACTICE TEST-7

CLASS: Xli

SUBJECT: GEOGRAPHY (PART-I

TERTIARY AND QUARTERNARY ACTIVITIES (CHAPTER-7)

Time : 2 hrs. M.M. 25

I.

q enfelen fepaneti o M fafaw st gdias fepareromy o afmfaa 2 1
Write the name of two economic activities included in tertiary activities.
“qem ferareRea’’ 9 A Sty 22 1

What are ‘Quinary Activities”.

IRd & "R &5 § sreforesen & &iH 9 Yol Haifis YsHR Iuers Hid
22 1

Which sectors of economy provides highest employment in metropolitan cities
of India?

fava o fogl S fowmsia <ui & W fafew st fafecn wdeq 9@ weifus
T U H 87 1

Write the names of any two developing countries of the world which receives
abundant benefits from medical tourism?

“ SR TeEE ' G S gEE @72 1
What do you understand by “Telecommunication”?

“IH YeRHT SRR, ¢ S UehHY s’ § fRe ger fae @2 9l
Fifsa| 3

How “Knowledge Processing Outsourcing” is different from ‘Business
Processing Outsourcing’. Explain.

o faquE sl Rt fafy=r fasiaarett w1 =i wifsm) 3

Explain the different characteristics of rural marketing centres.

fordt <31 o onfeisr o ® Wem WX & IS 1 99 Sifeg| 3

Describe the contribution of service sector in economic development of a
country.

qaiaeh fohamehed o &9 | Yed o Wed hl dUid hifsid| 3



10.

11.

Explain the importance of tourism as a tertiary activity.

“ohlg eaieh &', A el (Morphology) 1 H&4 WM Bl R

SHoh Hecd hi T hifey| 3

“Central Business Zone” is the main part of urban morphology. Discuss its
importance.

e 1 qifad 3 I Rl hT I HifT 5

Discuss the factors affecting tourism industry.



PRACTICE TEST-8

CLASS: Xli
SUBJECT: GEOGRAPHY (PART-I

TRANSPORT AND COMMUNICATION (CHAPTER-8)

Time : 2 hrs. M.M. 25

I.

foea =1 gum Gresite @Hr TR 1 T o6 7ET YRE geTl? 1
The first public railway line was opened between which two places?

“wemnt’’ @t aReifia S 1
Define “Highways”.

diarerd! Teehi oh < SewEl A 8?2 1
What are two objectives of Border roads?

Iferolt Tierg o 10°-35° S1ene o Hed WA At SUes € o F1 HIRU
2?2 1

What are the reasons for limited air services between 10°-35° latitudes in the
southern hemisphere?

qREe i Tad T {91 1 9™ fara) 1

Write down the name of cheapest mode of transport.

fava & ge9 o tomrl w1 9 fafew 3@ emrl w1 enf¥e e wWw
it 3

Write down the name of world’s longest railway line. Explain its economic
benefits.

@ X % fmi @ R R e weiv % vt =R ¥ gfy g @, 9o
ifeTl 3

Due to Suez Canal, there is a increase in trade between Europe and Asia.
Explain.

TEUAET UReRT % A SR g w1 9 Hifs 3

Discuss the merits and demerits of pipeline transport.

9 HiA-4t faurd © f5eh g UReR W Al oF WHeRTel e 9 @S
g # gfg wam? 3

What are the modes by which cyber space will expand the contemporary
economic and soil space of humans?



10. fovg & fou W uAfas 4 fafga o = F

T -

&, IO AWIehT T 8IS I9A

@ foe # A-ufEeT T

T UR R IS

o

~ .

=l

ed A

ohdl oF STYR W
3

On the basis of following indicators, identify the marked place on the outline

map of India:

a. Airport of South Africa

b. Shipping Canal of Egypt

C. Trans Continental Railway

11.  fova &1 orcam Somml SH-O1 22 faisia <R o gHet 9ffeh w1 9uiq

it

5

Which is world’s busiest waterways? Explain its relevance for international

trade.
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PRACTICE TEST-9
CLASS: Xli
SUBJECT: GEOGRAPHY (PART-I
HUMAN GEOGRAPHY : NATURE AND SCOPE (CHAPTER-1)

Time : 2 hrs. M.M. 25

I.

10.

11.

IR h1 3P TS HifST| 1

Explain the meaning of trade.
IR % Jq@ 3 & S 9 872 1

Which are the two main levels of Trade?

ey TSl § AR 1 ARAYE WET F1 917 1

What is the initial form of trade in primitive societies?

W an fomd <@ e en? 1
Which two countries were connected by the ‘Silk Route’?

‘U’ w1 o1 ww wifsm) 1
Explain the meaning of ‘Dumping’.

fgmf¥ess o sguf¥as =R # =R T Hifsu) 3

Differentiate between Bilateral Trade and Multi-Lateral Trade.
TSt GEuEl | faar fhe WehR Sraiiseid SATUR Wi gl il €72 3

How does the difference in national resources influence the international
trade?

‘e =R Aifd’ 1 A7 TeEy] forRiwareT w1 T St 3

Clarify the three main characteristics of Free Trade.

‘fava =R WTeA’ g fRu U @l 1 dF fags W auia wifsu) 3

Explain the three main features of World Trade Organization.

‘MR HqeE’ 1 7Y WU * U Ul 9 SI{Hd MR e H 3TRR
EGIS 3

Clarify the meaning of ‘Balance of Trade’ and also differentiate between the
favourable and unfavourable balance of trade.

‘ITHl 1 ST AR o Wa¥ §R el Sl g1’ 9 HhUd 1 TIRIhI0

3TEY0T 9fgd hifsm| 5

‘Ports are called the Gateways of International Trade’. Clarify this statement
with suitable examples.



PRACTICE TEST-10
CLASS: Xli
SUBJECT: GEOGRAPHY (PART-I
HUMAN GEOGRAPHY : NATURE AND SCOPE (CHAPTER-1)

Time : 2 hrs. M.M. 25
. A o 7R wed 22

Define human settlements?
2. SYTHIRIO o1 ®?

10.

11.

What is sub-urbanisation?

‘Ot ITe% T 37 S|

What is the meaning of Megalopolis?

Tty il w1 wq@ enfefr feran @ @2

What is the major economic activity in rural settlements?

fhE TR 1 SRl TS, TS a1 8T oh TN Bt § 2

Which form of settlement develops along either side of roads, rivers or
canals?

T 9 T SfEd o ST TR i)

Differentiate between Rural and Urban Settlements.

T ARETdl ST MR oF YR W A TI@ TR H1 JUH I

Explain the three main types of rural settlements on the basis of forms or
shapes.

‘yreftor SfeEl 1 feafa g @Rl g weifaa el ®1 fREl dH et o
EUERCAIS L

‘Many factors affect the location of rural settlements’. Explain any three
factors.

ggd 9 Yohivl okt § 3R T Hifu) 3
Differentiate between compact and dispersed settlements.

fomraena <on ® umivr Sl w1 wgE wwenstt w1 dW fagei # o oaH
HifsTU) 3

Explain the problems of rural settlements in the developing countries in three
main points.

faerramiial <o &1 THE Sfaal w1 onffe 9 uHlenur TRl wHEeT W
fagatoor wifsm) 5

Describe the economic and environmental problems of urban settlements in
developing countries.




PRACTICE TEST-11

CLASS: Xli

SUBJECT: GEOGRAPHY (PART-ID

POPULATION :DISTRIBUTION, DENSITY, GROWTH,
COMPOSITION (CHAPTER-1)

Time : 2 hrs. M.M. 25

1.

STEUTEA URYT 1 TN SEd el & WX <9 i oheed 0.98% SHEE F8l &l
2| Rl Sy 1

Arunachal Pradesh has a large area but only 0.98% of population of the
country live here. Why?

SHEET % Ty oy o § welfue dfg T St 22 1
Which age group of population has the maximum growth rate?

ad 2003 &I Jan Aifd # fReR i oF fau fvd Hifq &1 Y@ *T W) 1
Which policy was started in the year 2003 for the youth?

A o T H iR G A g e 2 1
Which language groups comprises smallest linguistic composition?

‘ST faaeor’ @) uRefya sifs) 1

Explain the term “Population Distribution”.

T 1951-81 °F SIMhI I 9RA § STEE faehie &1 @iy o €9 H S S

2 fad=m wifsm 3

The decades 1951-81 are referred to as the period of population explosion.
Explain it.

I 9RA | SHEE 1 3Afd Ieu ghg <X UEl Sl §1 SNl Sy 3

Northern India has high population growth rate. Why?
"R o e W e TEE ARl W foener SHEE o |Wigu 9 Wy ® R

U] I HifSU| 3

“‘Regions of river plains and coastal areas of India have larger population
concentration.” Explain its reasons.



10.

11.

Ifg S ok Ifrk B 9 SHEEN % IMH B o gHF H W e €1 R
ERIEY 3

Population doubling time and high growth rate are dependent to each other.
Give reasons.

‘R qev W oud Wt afieafi T ®U @ ifiers widl €17 wed
o | 3

Formal expression of regions on landscape is manifested. Give reasons of it.

TG W SHEE U oh e faean o fou STEEt wRent & faeem
hITSTq| 5

Elaborate the reasons for spatial disparity in population density in India.



PRACTICE TEST-12
CLASS: Xli
SUBJECT: GEOGRAPHY (PART-ID
MIGRATION : TYPES, CAUSES AND CONSEQUENCES (CHAPTER-2)

Time : 2 hrs. M.M. 25

. 9N sl SFOAT § Yo oF S JEA SMER shid 9 22 1
In the census of India, migration on which two bases is enumerated?

2. 3 WaTE @ Siaiid wH-Hl 9R 9d et gl @2 1
Which four streams are identified under the internal migration?

3. AW YaE § qeW o whi Wear gl g1 WE 1
Inter-state migration comprises by the male only. Why?

4. f5g o9 ¥ enyerdh waffus S T Tw R 1
Name the state which recorded the highest in-migrants?

5. A-O THT qUg Faifus Yot STkt s €2 1

Which urban agglomeration attract the highest migrants?

6. 1960 oF T3 oF 91 9Rd § Y9 oF W®Y H & IS U] SRS HhIfSE| 3

Which trend was noticed in the migration in India migrants after the 1960s?

7. Yo o gNI gY TehNIcHE YWE HiA-hiA U 2| Tl i o fafed 3
Write the negative effects of migration. Give any three points.

8.  geul qun fori & fou e & @l fa=-fa=r gl 82 sudsa s fafew) 3
Why reasons for males and females are different for migration?

9.  Yoh TS URedd oF sifdehdie oF €9 § M #d ¢ e FIUl 3
“Migrants act as an agents of social change”. Explain it.

10. oiUa wordh fRe we <@ wi enfie fom W weegel g fuw @
3T <4 U GHARY) 3

How does international migrants plays a important role in the economic
development of a country?

11. Ya9 o fou STEEr afaerd den 279hd ekl ol IRl Shifsg| 5

Explain the factors for each factor of migration (i) push factors (ii) pull factors



PRACTICE TEST-13

CLASS: Xli
SUBJECT: GEOGRAPHY (PART-ID

HUMAN DEVELOMENT (LESSON-3)

Time : 2 hrs. M.M. 25

I.

IR ® ford < TS § SHEN w1 Seuad U e W ¥ e 8?2 1

Which of the two states of India have the highest proportion of population
below poverty line?

Ara-Torenm e =1 T (Sfaie™ &R W) e deen g fan s 27 1

Human Development report was published by which organisation. Write its
name.

XY S % gud o ®9 § @i el R gueht &t famn s 27 e

g =1 fafed) 1

As a indicator of healthy life, which are the health related measures that have
been adopted? Mention any two.

el Hd T geEehish ohH W TeH W 87 39 Uiy & fod fmiER 2
Feh! o IR | fafed| 1

Kerala is placed at the top rank in Human Development Index. Write any two
factors responsible for this achievement.

2011 &1 RUiE o STIER AHd oo™ gohish d Fifcshd H fova H wRa =1
HF-TT I 1? 1

What is the rank of India in World Human Development Index according to the
2011 Report?

‘urd o o Tt el o wg-wiy Suenstl we et i fHen-Sen e
21" 39 HA H T F 3

For India, ‘Development is a mixed bag of opportunities as well as neglect and
deprivations’. Explain.

qRd 3 WA=l o 9] Ioa@ i W St § fhd e U9 o ot e,
A TH I=T YR HT WA B W@ 7| ST AT G w1 = w S
e i X FH H HEEE B 3

After independence India made a remarkable progress but many states are
facing the problems of poverty, illiteracy and high death rate. Which human
values may help to solve these problems successfully. Explain.



10.

11.

SFEET TS GHEE oh |t Sfud Hqer wie faserE o fod etewass €1 3™
FYT H T H 3

Proper balance between population and resources is necessary for Human
Development. Explain this statement in brief.

qRA o d=dl H "ed fAmIaa o I HROT Faed| 3

Write any two reasons, responsible for decreasing sex ration among children
in India.

IW 9Rd o AU T | AFa foe™ @1 9 gEed 9@ SH % #
ROl 82 2 fager o wagd 3

Give two reasons for low levels of human development in most of the northern
states of India.

TG H S 9 % oF e qfaey &1 faerer S ud wenfie fa=ar o
RN el ddEd| 5

Discuss the spatial patterns of female literacy in India and bring out the
reason responsibe for it.



PRACTICE TEST-14

CLASS: Xli
SUBJECT: GEOGRAPHY (PART-ID

HUMAN SETTLEMENTS (CHAPTER-4)

Time : 2 hrs. M.M. 25

I.

TR o folehTd whieT o STYR W SeUEE U8 ofEds ohi [ aff | @i? 1

On the basis of evolution of towns in India, in which category Hyderabad and
Lucknow can be put?

IRA W Teh W% & HEANRd o geciavs S & | Tfesq st O sl @
& Tl W Tomen § off fesa afiqdl o) S @1 wRo fafed) 1

In India clustered settlements are found in Bundelkhand as well as in
Rajasthan. Give the reason for both.

S TR fore wed 22 1

What are satellite towns?

fFl < TR & W fafed 5= aiftifas TR & ®9 o afiga fean s g

27 1

Write the name of any two towns that may be classified as commercial towns
in India.

qRd § o9 o o TR R kel S 87 1

Mention the one characteristic which is necessary for a urban centre to be
called as a class | town?

UTHIOT Ta TR Gl § @ STURYA 3 T s | 3
Write any three basic differences between rural and urban settlement.

IR H Ul Sl o fafi weRil o fod e 9 9§ % 9 R SOl
2?2 fopegl i 1 Seoi@ | 3

Which are the main factors responsible for having different types of rural
settlements in India? Describe any three.

fpdt TRT Wpe & a9 o fod ®E-d O GEEe w6 22 W w1 3

What are the combinations that help to develop urban agglomerations?
Explain.

TR o YehrIicHer aiehT0] § oI STSM 22 TEH TR o § 3L 2| 3




10.

11.

What do you mean by functional classification of towns? Give any two
examples of Garrison (Cantonment) towns.

am TR fe wed 8?7 9N W o fRad AW TR 227 (2001 o 3AihSl o
SN 3

What are Mega cities? According to 2011 census how many Mega cities are
there in India?

AHE ST 1 IRHIYG HiS| 9Rd ® AT 9l oF Y YRR Rl dfed
U F 5

Define human settlements. Describe the main types of rural settlements in
India.



PRACTICE TEST-15
CLASS: Xli
SUBJECT: GEOGRAPHY (PART-ID
LAND RESOURCES AND AGRICULTURE (CHAPTER-5)

Time : 2 hrs. M.M. 25

1. free 9 a3 1 et T i) 1
Clarify the meaning of ‘Net Area Sown’.

2. 9RG ¥ WRAME 9fF ¥ wH H TH WGE HRO 7 7 1
What is the main reason for the decline in land under grazing lands in India?

3. % TEAAl %I TUAT R YN 1 Sl 8?2 1
How is Cropping Intensity (Cl) calculated?

4. Ui SME ¥ IME SH Al 96 i diFd wEal oh AW Sdsy) 1
Name the three crops of rice grown in West Bengal.

5. Tt e YR faed %) ufas Sethdl #t Set © 2 1
How Pulses increase the natural fertility of soils?

6. 9RA I G HHA HqQ A G €2 gAh i fowivar sqEy 3
Which are the three crop seasons in India? Write their characteristics.

7. oAE OW f 9 qUad g § eRR 'R Sl 3
Differentiate between current fallow and fallow other than current fallow.

8.  ‘ferdlt & w1 f S, Afeh aRl & ewfeie foRemet Y wafa W fAelk T
TH HY h TR0 3fEd SEEI0N g HiTSU) 3
‘Laud-use in a region, to a large extent, is influenced by the nature of
economic activities carried out in that region’. Clarify this statement with
suitable examples.

9. Al % YHW & o YR W FHfY o I Y@ YR 1 GUH i) 3
Explain two main types of farming on the basis of main source of moisture.

10. A=l Wi & 9] @R H1 SERd 9gM ’g hU T YqE i1 U i

11.

ERIEY 3

Suggest any three measures that were adopted to increase the production of
foodgrains after independence.

IR i ) ote T e swia-g €2 gui i) 5

What are the main five problems of Indian Agriculture? Explain.



PRACTICE TEST-16

CLASS: Xli
SUBJECT: GEOGRAPHY (PART-ID

LAND RESOURCES AND AGRICULTURE (CHAPTER-5)

Time : 2 hrs. M.M. 25

I.

qrn Gufd gareE o ol qeuft § T 9gE SR i 22 1

What is the main difference between common property resources and private
land?

IRA | T YUEad fFE wHe Fg o @ S @? 1

In which season is wheat cultivation done in India?

1960 % SO H ®E-W W H NE 9 A0A H AfUd ScAEehar w1 fhe
fomfaa ot T8 off? 1

In which countries were the high vyielding varieties of wheat and rice
developed in 19607

IR U@ Hi <9 ok SW UREd 9§ fRY AW 9 g S @2 1

By which name is American cotton called in north-western parts of the
country?

IRA i I T QR HHc oh AW qO 37 Scaeh T3 ARl (Th-TH)1

Name two main cereals of India and their producing states. (each one)
‘g-gEeAl 1 Hee I @nl o fau eifue @ Rl ersifaer Y w fask
21’ 39 oM i Sfad SR g T Hife) 3

‘Land Resource is more crucial to the livelihood of the people depending on
agriculture’. Clarify this statement with suitable examples.

IR o feu T Y@-aetes ¥ frefafea w5 feft sugs fogl 9 fase ek
3eh W fafen - 3

F. S H GIH TS IURH A

W HIG H I TG SURH T

T H%Cl H GO ST SURH T

On the given political outline map of India locate and label the following with
appropriate symbols:

I. The leading jute producing state



10.

11.

il. The leading coffee producing state

iii. The leading groundnut producing state

“

eitd ohitq & 1 i 82 3Hen! Y@« faeiand sEy) 3
What is Green Revolution? Explain its two main characteristics.

qRd H Y 9 31 $MU H 3= T Hig)| 3
Differentiate between Dryland farming and Wetland farming.

qRd H q-TT-R oF faq STRERT i SRepl 19U i) 3

Explain three factors responsible for the degradation of cultivable land.

froet 50 ool o 9rd A Ffu A # gfg IR Wit o faem w1 9ol
SHifSTa| 5

Explain a significant increase in agricultural output and improvement in
technology in India.



PRACTICE TEST-17

CLASS: Xli
SUBJECT: GEOGRAPHY (PART-ID

HUMAN GEOGRAPHY : NATURE AND SCOPE (CHAPTER-1)

Time : 2 hrs. M.M. 25

I.

T @ | SyEn fafeEy) 1
Write the two uses of lagoons.

IR § oreforamen & fRE 99t U el R WY W@ 1 GaEifue SUE
feman T =72 1

Which sector of economy uses maximum amount of surface and ground water
in India?

ToM 3R WeRTE | 31fuss St ferte o &Ro 9fa wia o fRe 9 &
TH=0T 9 T 72 1

The concentration of which element increases in groundwater in Rajasthan
and Maharashtra due to high extraction of groundwater?

‘et G FeluE! 9 oY 9 e @2 1
What do you understand by “Watershed Management”?

" TorEar’’ i aReifia sifsal 1
Define “Water Quality”.

for AT goai w1 STUAERR Sol THHEl k1 WRe0r R S Gehar 82 9o
HifsTU) 3

Which human values can be adopted to conserve water resources? Explain.

FE AN T &N g Sd G faee @R gevd o fau e T

TSR Al BT SO hifeTu| 3

Explain the different programmes started by Central and State Government
for watershed development and management.

qRd ¥ 9= o fou Sia g9reAl &) gaifus 9 sl 27 T i) 3
Why, there is a highest demand of water resources in irrigation in India?

Explain.

STl SAEE 1 g 9IS g8 IR foeRl w2 ¢l 33 9fed T
Hifsa| 3




10.

11.

The depleting water resources may lead to social conflicts and disputes.
Elaborate it with suitable examples.

IR ¥ S 99EEl H STed § ast § % o Wl 2| S9eh fou STRERht
EarcafcalicueicaiE 3

There is a rapid decline in availability of water resources in India. Explain the
factors responsible for its decline.

“oul Sl HURUE" 9§ N WU B7 SHeh GURUM ok fafa=r fafirl @ el
Hifsa| 5

What is ‘Rain Water Harvesting’? Explain different methods of its harvesting?



PRACTICE TEST-18

CLASS: Xli

SUBJECT: GEOGRAPHY (PART-I
MINEALS AND ENERGY RESOURCES (CHAPTER-7)

Time : 2 hrs. M.M. 25

. 9RG H YUH W] 9 FEl R e wenfua e e 1
Where and when was the first atomic station set up in India

2. HANIEES 9] ¥ ®iA 9 @t W frar s 22 1
Which mineral is obtained from Monazite sand?

3. e o6 AT o g g9 Sl 1
Name the two ages or eras of formation of coal.

4, 9Xa ¥ wEY o€ dol URERETen Hia-at €2 1
Which is the largest oil refinery in India?

5. e UM ok foU sheen Al SA-9 872 1

Which mineral is used as raw material in cement industry?

6. IR § @RS o1 W0 ) Tavasd 27 @RSl oF TR0 % 39 SdEyl ]

Why conservation of minerals is necessary? Give three reasons.

7. OR S HI oA sqEu) 3
What are the characteristics of solar energy?

8.  UUFHRNG q¥l TR-TWERPT el ©id | 3fat T i) 3
Distinguish between conventional and non-conventional sources of energy.

9. IRd § Ueiferad o fordl i e ScareA &5l o1 9o shitey 3
Describe three commercial producing oil fields in India.

10. 9RA oF "M R HAEfatea 3emse- 3

%. dfceal @ AT T WIS
On the outline map of India mark the following :
(i) Haldia (ii) Jharia (iii) Mayurbhanj
1.  9a ® @St o1 oo gera: o ufedl § ehfsa @1 gois 98t o @i &
STET I T TH HUA hi gie Hifaal 5

Describe the three broad belts of mineral concentration and distribution in
India.




PRACTICE TEST-19

CLASS: Xli
SUBJECT: GEOGRAPHY (PART-ID

MANUFACTURING INDUSTRIES (CHAPTER-8)

Time : 2 hrs. M.M. 25

I.

10.

dle T 3TN i STeYl feorfd =a A1 o ©ial o e i Bl ©7? 1

Why the favourable location of Iron and Steel industry is near the source of
raw material?

w8 ¥ R feo die s gas w1 AW fafam) 1
Write down the name of iron and steel plant, located far away from coal fields.
SveteRel W o SR 22 1
What do you understand by Globalisation?

I U2 WEH sE o 9W fafam) 1

Write the names of two petro chemical industry.
aRA § R gl THer s Tmae hel i forw oy o g2 1

Where and when, the first modern cotton mill was established?

IRA | Gl I ITF oF foehte oF T STREET ®ieh! ol 90 Fifeg) 3

Elaborate the factors responsible for development of Cotton Textile Industry in
India.

“E SEM TR A ST Y, SSreRn gfed T i) 3
‘Sugar Industry is a seasonal industry’. Explain with examples.

9IRd 1 S SfEnfie HAifd (1991) o fafe=r sgwai o1 avft wifsw) 3
Describe the different objectives of New Industrial Policy (1991) in India.

‘el ST &' i W fawivaiet 1 avia sifsu) 3

Elaborate the main characteristics of Hugli Industrial Area.

ORA o AAfaS § f=fafaa = <eisy . 3

% U S eIl 9 Tnfyd sE 99
@ fenEe WeR o1 9ieedER IS ureh



11.

T T U4 ARG s21d 99

Locate the following in outline map of India.
I. Steel plant established with collaboration of Germany
. Software Technology Park of Himachal Pradesh

iil. First Port Based Steel Plant

IRd | TN 1 foero urey oTEaE 21 3SRl |fgd foar 9 avf wifsw 5

There is a uneven distribution pattern of Industries in India. Elaborate in detail
with suitable examples.



PRACTICE TEST-20

CLASS: XlI
SUBJECT: GEOGRAPHY (PART-II)
GEOGRAPHY (CHAPTER-9)

Time : 2 hrs. M.M. 25

1. A s &1 a1 T sl 1
Define Planning.

2. IS o <1 y@ SurEE wE-9 2 W dfE) 1
What are the two approaches of planning? Name them.

3. Had umie o w1 et T st 1
Explain the meaning of sustainable development.

4. TCAR & 1 3Tefeqese ki YAIfad e ot & shieh Sdeq| 1
State the two main factors that influenced the economy of Bharmaur Region.

5. ‘TE S SR o SATdTd & SRl A SdiEy| 1

Which area/state is inhabited by Gaddi Tribes.

6. ‘'Ever fEsA" 9 uRie fEeE W SR e S 3
Differentiate between ‘Sectoral Planning’ and ‘Regional Planning’.

7. S9N GHfed faeR Al oF AR BH | gU GEISieh ol i O faget |
forerer wifS) 3

Explain social advantages due to introduction of integrated develoment
programme for tribes.

8. '@l et & fawe wrEiehH’ % Y@ SeEdl 1 W H guiA wifsu) 3
Explain the main objectives of ‘Drought Prone Area Programme’ in brief.

9. WRA ¥ Y@l GUE &% o I=ia S el Y@ & hiH-hH U 22 3

Which are the main areas that come under drought prone areas in India?

10. 3fE@ T} TeX FEE &F % BEA Faed W F ST USI? 3

What were the effects of Indira Gandhi canal command area on the crop
pattern of the area?

11, ‘sf<yu 7t ek FAE &3 | Taq GuviE faemE o SaeEn 39 9 gEtad ae
UMl T UM HifSTa 5

Explain the five main measures taken for the promotion of Sustainable
Development in the Indira Gandhi Canal Command Area.



PRACTICE TEST-21
CLASS: Xli
SUBJECT: GEOGRAPHY (PART-IN
TRANSPORT AND COMMUNICATIONS (CHAPTER-10)

Time : 2 hrs. M.M. 25

1. S U o 7@ AR ok 9 Fasy) 1
Write two bifurcated segment of G.T. Road.

2. THTA.CAE. &1 U M FdE) 1
Write the full form of N.H.A.I

3. iy e aRESE e W % # S3EE 92 ]
What were the reasons for the constitution of the Golden Quadrilatral?

4.  UEell Yorersd Tk & R ok e AT i wE? 1
Between which two stations was the first railway line constructed in India?

5. ORA oF YA e 91 =R o fafa= areawi o 99 saEe? 1

10.

11.

Write the name of new method of communication and earlier methods of
communication.

AR, (HH TS 98) 1 e W Hi| 3

Write the importance of BRO.

TRF bl W R UH Gehl k1 uEmn & wedl et S @1 fags
ifeT] 3
Why does the quality of rural roads deteriorate away from the urban centres?
“ardie & A fafay gwRfa o @ I T WY AR 9RA | w@aadr 9aE |
A e & T Hifsw) 3

‘Indian Railways’ brought people of diverse cultures together to contribute to
India’s freedom struggle”. Discuss it.

Hih0 o ARAE (o H TEayel sufer wE Sl 21 dE? HE A deh
gty 3

One of the important achievement of Indian Railway is construction of Konkan
Railways. Explain.

g Reed o 9 a9 SaEd| 3
Give any three advantages of air transport.

ge 1 oA famu fadt &= & enfdis famm it uiefem wwar 21 Suge
3T <A JU <@ I 5

Spatial unequal distribution of roads depicts the picture of economic
development. Comment on it.




PRACTICE TEST-22

CLASS: Xli
SUBJECT: GEOGRAPHY (PART-ID

INTERNATIONAL TRADE (CHAPTER-11)

Time : 2 hrs. M.M. 25

I.

10.

AT AR @ =41 a2 72 1

What is meant by international trade?

WA 1 -STFG T HHE-T 87 1
Name the land locked harbour of India.
9d fFE SATIR WYE 1 Uk Hedd USE 77 1

In which of the trade block is India an associate member?

W a5l & AR o filee %1 g% SR #4272 1
What is the main cause of decline of the trade of conventional commodities?

AN oF 39 9aq 1 AH dast N9 &1 999 o 9R &l &H i ok (AU
famwfaa foran o 2 1

Name the port of Maharashtra which has been constructed to reduce the
pressure on the existing major port.

YRG W U9l hl SAUR 1 YA9l §R o el Sl €7 3
Why are posts called as gateways of trade in India?
IRA o e el SR o &1 S 87 3

What are the causes of trade imbalance of India?

IRA TF 0 G 30 e & aeeg ot W A SR Il 1 S L 2l
EJESU B GIELY 3

Why does India import edible oil and pulses inspite of being an agriculturally
rich country?

qRd o Toeelt =R &1 fagivard sasy| 3

Write the characteristic of foreign trade of India.

ORd o qHfae ) frefafaa <9z - 3

% H& IO



11.

[a <

g e A TER 9o

=

On the outline map of India mark the following:
I. Major ports

il. Major international airports

ORA o ST 982 oF Sgeld YUY <kl 99U hifsg)

Describe the changing pattern of India’s import.



PRACTICE TEST-23

CLASS: Xli
SUBJECT: GEOGRAPHY (PART-ID

GEOGRAPHICAL PERSPECTIVE ON SELECTED ISSUES AND PROBLEMS

(CHAPTER-12)

Time : 2 hrs. M.M. 25

I.

T FE ok de W a9 fRdl 2 T o AW fafed S o R " &l
TS e R 1

Name two main cities situated on the bank of River Ganga, pollute the river
with their domestic waste?

Steren € & Sor ¥ ke 9t THE T SE-E @ S agHed ®i wsfi
HTI 72 1

Name the two main gases, emitted by combustion of fossil fuel, into the
atmosphere resulting in the pollution of air?

U HE fHd Fed B2 1
What is smog?

3T a9l oht aReTfa s 1
Define Acid rain.

Siel Tguul § BiH arel feegl | Al ok W fefEd 1
Write the name of any two diseases caused by water pollution.

q-frefientor @ o1 afau 22 39 < UHW WIEfaeh ROl 61 Sooi@ HRI 3

What is Land degradation? Mention any two natural reasons for land
degradation.

IRA o T &= § 37ufdre e o gF acl yq@ a9enel &l ¥ & 3

Mention the main problems related to the urban waste disposal in India.

S fFE YR RelE el S UgfE e 82 fRel < sam o AW fofed
St wel i waifies wgd e @2 3

How do industries pollute surface water? Write the name of any two industries
which are the main polluters?

fFdt 3 AFEE g & == Hive 52 s wed TR afkEl @
TofeRvie Te TS gaeenst ¥ fuer s gehar 27 3



10.

11.

Discuss any three human values that may be helpful to face the
environmental and social problems of slums in Urban India.

919 YU TR @ HME wWieed o forn waw 22 i fage § T W 3

What are the effects of air pollution on human health? Describe in three
points.

Tial ¥ Y ki AR IS F B YAH & HRO TE A e sfeE (wrd) u
ITH qafervi wenst 1 gfg g3l SUge SN oh HiY TR ) 5

Migration from rural areas to urban areas has increased the slums and their
enviroinmental problems in cities.



